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142 ST 332 (H)



P390
YUIAYD $7
2 3
R T
L8N 1 3
2 a1 1
4 2 2
Ing) 31 0
5 0 |
4 3 - ¢V
WIWLY model YOINUNABDIHIAL UATILHVOYD
Wioadng
we 1 2 3
LaT 4 1 3 8
Wy |12 -1 3| 14
6 0 6| 22

a=2,b=3t=6,r=3 N=18

(1) CF = (22)*/18 = 26.89

(2) =X? = 80

(3) SST = (2)- (1) = 53.11

4) SS(AFNT) = @ +122+...+3%/3 C = 33.11

(5) SSA = (8*+ 14%)/9 - C = 2.00

(6) SSB = (16*+0*+6%/6 - C = 21.78
(7) SS(AB) = (4) - (5) - (6) = 9.33

(8) SSE = (3) - (4) = 20

ST 332 (H)
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sov df SS MS F
A8 ) | (31.11)
A= T4 1 2.00 | 2.00 | 1.2
B = \¥0edni2 | 2178|1089 | 6.5¢
AB 2 933 |4.665| 2.8
Error 12 20 1.667
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model VDINUNAND WA

Xux = pta+f+(efyy+em ;s i
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a;

B;

Egk =

=1,2
j=1,23
k=123
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